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QUESTION 1

If implementing a virtual Whitewater appliance v210 or higher to support a greater then 2TB volume for cache, which
version of ESXi and storage type should be used?

A. ESXi 4.x and VMDK volumes.

B. ESXi 4.x and spanned VMDK volumes.
C. ESXi 5.x and VMDK volumes.

D. ESXi 5.x and RAW volumes.

E. ESXi 5.x and spanned VMDK volumes.

Correct Answer: D

QUESTION 2

Utilizing Granite appliance allows customers to: (Select 2)
A. Remove storage from the branch.

B. Centralize backups.

C. Collaborate on shared files across the whole network.
D. Accelerate centralized file servers.

Correct Answer:. AB

QUESTION 3

Which transmission protocols do Whitewater appliances support? (Select 2)
A.iSCSI

B. NDMP

C.NFS

D. OST

E. SMB/CIFS

Correct Answer: CE

QUESTION 4
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What RAID protection level is supported on Whitewater appliance?
A. RAID-1

B. RAID-5

C. RAID-6

D. RAID-10

Correct Answer: C

QUESTION 5

On a Granite Edge, which is used to store transient data, per example, no requirement to replicate back to the data
center?

A. ESXi partition
B. VSP partition
C. Local LUN

D. Pinned LUN

Correct Answer: C
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